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NdD: model est vs obsOv@Q50

17.5 1

15.0 -

12.5

— a50

est

_—

10.0

7.5

5.0

2.5

20

25

age

30

35

40




DeltaTypeAbbr=GrpByAge

P3 NdD: D 5d NdD
DeltaTypeAbbr=GrpByDay

30 A
12 4 —4—  pcrDelta_avg
10 A 25 pcrDeltaAdj avg
g 4 ) 20 4
—+— pcrDelta_avg 15
61 pcrDeltaAdj avg
4 _ 10 - o
2 - 5
0 ftmm e ] O
15 20 25 30 35 40 20 30 40 50
d d

page 11

DeltaTypeAbbr=WeiAvgByD

30 A

25 -

20 A

15

10

——

Y pcrDeltaAdj avg

pcrDelta_avg




DeltaTypeAbbr=GrpByAge

50

40 -

30

20 -

10

—4—  pcrDelta_avg
pcrDeltaAdj avg

P3 NdD: D 15d NdD
DeltaTypeAbbr=GrpByDay

100 -

80 -

60 -

40 -

20 ~

—

pcrDelta_avg
pcrDeltaAdj avg

page 12

DeltaTypeAbbr=WeiAvgByD

100 A

80 ~

60 -

40 ~

20

—4—  pcrDelta_avg
pcrDeltaAdj avg




DeltaTypeAbbr=GrpByAge

P3 NdD: D_Q50_NdD
DeltaTypeAbbr=GrpByDay

——

pcrDelta_avg
pcrDeltaAdj avg |

20 -

_20 .

_40 .

——

pcrDelta_avg
pcrDeltaAdj avg

15

20 25 30 35

40

20 30 40

50

page 13

DeltaTypeAbbr=WeiAvgByD

20 4 —4— pcrDelta_avg 5
pcrDeltaAdj avg
S DO Y S SO —
_20 -
_40 -
20 30 40 50




P3 NdD: D_Est_NdD

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD
200 A
& —b—  pcrDelta_avg —b—  pcrDelta_avg —4—  pcrDelta_avg
pcrDeltaAdj avg 125 i pcrDeltaAdj avg 125 pcrDeltaAdj avg
150 | l |
100 + 1 100 +
100 A 75 ' & ¢ 75
50 A ¥ | 50 4 4
50
25 25 . -
0_—______________________:-__»—_.11_ 0_ ______________________________ page 14 0_ ______________________________
15 20 25 30 35 40 20 30 40 50 20 30 40 50



page 15
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FrV: obsFrV vs obsFrV@Q90
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FrV: D_Q50_FrV

organ|D=1

i —4— d3avg
—}— d3aavg

organ|D=2

16 18

—4— d3avg
—}— d3aavg

22 24 26 28 30 16 18
orgapd D=3

=0.5 1 —4— d3avg
—}— d3aavg

age

14.2 14.4 14.6

T
14.8 15.0 15.2 15.4 15.6 15.8
age



P3 FrV: D_Q50_FrV
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FrV: D_Est FrV
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